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QUESTION 1

You have imported a sales data Cognos Insight local cube. You have years, quarters, and months in different
dimensions. However, for your business requirements, it would be better to have a one-time dimension.

How would you change your model?

A. Change the cube structure using the Group Dimension function.

B. Create a new cube using the Group Dimension function.

C. Change the cube structure using the Combine Dimension function.
D. Create a new cube using the Combine Dimension function.

Correct Answer: B

QUESTION 2

A userentering numerical data into TM1 Application Web places a hold consolidate on North America with three
children: Canada, USA, and Mexico. At the time the hold is placed, the value of North America is $30.00, with each child
value set at $10.00. A user subsequently adds $10.00 to the value of Canada.

Which statement is correct?

A. "North America" increases $10.00, "USA" and "Mexico" remain unchanged.

B. "North America" remains unchanged. "USA" and "Mexico" are reduced by $5.00 each.

C. "North America" remains unchanged, "USA" is reduced by $10.00, "Mexico" remains unchanged.

D. All values are on hold, so the add function is ignored.

Correct Answer: B

QUESTION 3

What is the differencebetween a TM1 Sandbox and a Personal Workspace?

A. A Personal Workspace allows you to work in a private area where a Sandbox is shared.
B. A Personal Workspace is a special default unnamed Sandbox where you begin your work.
C. A Personal Workspace is shared.

D. A Personal Workspace does not require you to commit your data as a Sandbox does.

Correct Answer: B
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QUESTION 4

A user requires the use of the "Insert Subset" operation to create a user-defined consolidation in the TM1 Subset Editor.
Which TM1 user interface would be used to do this?

A. TM1 Contributor

B. TM1 Websheet

C. TM1 Explorer

D. TM1 Web Cube Viewer

Correct Answer: C

QUESTION 5

A user has invoked the Slice option in a TM1 Cube Viewer.
Which TM1 Excel function is generated in each of the data cells?
A.DBS

B. DBR

C. DBRW

D. SUBNM

Correct Answer: C
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